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26.

30.

SECTION-1I
MATHEMATICS

Find the length of side of a square, if the length of diagonal is 13cm.

(1) 12 ¢m (2)6.52cm 3) 13V2cm (4) 13 cm.

v

2.7% of 4560=2 [choose two correct options]

(1) 12312 x 1072 ) 12312
(3) 12.312 @) 12312 x 107

A fruit seller purchased 50 dozen bananas at Rs. 40 per dozen and sold them
all at Rs. 52 per dozen. What was his profit percentage?

(1) 26% (2) 30% (3) 32% 4) 28%

A rope of length 420m is cut down at 6 places at same distance. Then what
is the length of each piece in c¢cm?

(1) 7000 2 70 3) 700 (4) 6000

Which of the following statement is not true? [choose two correct option]
(1) The diagonals of a rhombus bisect each other.

(2) The diagonals of a rhombus are perpendicular to each other.

{3) All angles of rhombus are congruent.

(4) The diagonals of a rhombus are congruent.

0811 / Kannada Set-A 8 of 32 P.T.O.

_ SECTION- 11 )
MATHEMATICS
26.t0w WIRT gror wed dden 13 Foumseos =g, =0 @mud wgdd axm ?
(1) 12 Reusmescs (2) 6.52 Bouzstwee
(3) 13V2 Roumeuscr (4) 13 Rouzsence

27.4560 0 2.7% = om, ?

(3]
(1) 12312x10°* (2) 12312

(3) 12312 (4 12312x10-*

i)

Nm.r.,aaaugﬁmﬂauuncah.uu.aquow. uoﬁaﬂﬁnqﬂaoﬁ»uﬂ.bqﬂnwnqﬁﬁuuu
52 Gn. Bu J00E SRORE SRATED. ¢ TTRoR el Bum Yy o, ?

(1) 26% (2) 30% (3) 32% (4) 28%

29.420 ovesot eozwded ot TS 6 M&nq&. TSRS ©o3UT Sied 83,0008 Z3ciac w0l
o..un.wum Ty, Rotineskddh wh3d ?

(1) 7000 (2) 70 (3) 700 (4) 6000
30.89n=Yrvd ¥x, DN IR ?
(2 cdntr, Sodmrohnivay ol SRQ0)
(1) =bpw PEntRd dornsh JITYD Dnns 3.
(2) xbghu PIetES Smenth TOXY vow 3.
(3) = Pox WERET Dy, SRt Q¥0RT IS,

(4) xownn WPEARE Fnenw DEdRT o3,

0811 / Kannada Set-A 90f32 P.T.0.
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31. A side of cube is 12cm. Such three solid cubes are melied to form a cuboid,

If the base arca of the cuboid is 144 sq.cm then what is the height of that 31 womd P B 3ah s 12 Foudoict <. R0IT SRBOR FREIRIR, BONL UPrieer wem w0
60

cuboid? [choose two correct option] B IRROXRND. 2y middadh IVI FrIo 144 W@, 2. e RGP, ¥ Ry ddoh a3 gE, 0
‘ (2 clwery, Jodrodhnda, uody SRao)
(1) 36cm (2) 0.36m

(3) 12cm (4) 0.12m _ (1) 36 .0 © (2 036

. 3) 12 R.20¢ 4) 0.12 e
32. Which of the following statement is correct? @ i n

3 32. 3UnIYrYD o cdeer, DGR cIRYd ?

(1) The rational number 0 is on the left side of zero, on the mumber line,
’ 43
(1) 25 o Sohetad Rodoto xommPetod hed 2axT azuon LAY
(2) The rational number a1 is on the left side of zero ,on the number line. -17
-19 2 o 1 Jodeod Xosdodn Rozmdedon Hed BAIT QnuO LRI,
. 2 . . 27
(3) The rational number le is on the right side of zero on the number line. () g & Tosbhead Hofadn RoamJeadadh shed ZrFT LOLDE WHTTD.
@) % e, 2 5 Toxlies RoxmJedtod e AnmI Lodde LI LT,

(4) The number % and wﬁd on the same side of zero, on the number line,

33,20 SNETO o THTHNT ao&uou& TDNEHRT x_.o.&uouo @, BNo3 T3, 0o 8ash <. SReRd wiy
. . ! | ompEn? Ko, 71 wnd whwknd xod, amy?
33. The number of boys in 8th standard in the school are less by 10 than twice |

the number of girls. If the total number of students in the class is 71, then find | (1) 44 (2) 61
the number of boys?
3) 54 4) 64
(1) 44 (2) 61 ® “
(3) 54 (4) 64
34.2¢5 - 3x + 181 uIHTIDH, DT WHHTBH), FARTTN 337 + 5x + 123 LITIO
) ) ) : Badaivymd ?
34. Which polynomial should be added in 2x> — 3x + 1 to get the polynomial
322 + 5x + 1? | (1) 22 + 8 (2) -2 — 8y — 32
(1) 25 + 8x (2) -2x° — 8x — 322 i (3) 2% - 8x @) -2 + 8y + 3’
(3) 2¢° — 8 @) 20 + 8x + 322
(
_
|
_
0811 / Kannada Set-A 100f 32 PTO. | 0811/Kannada Set-A 1 of32 RTO.
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35. Few chocolates are there in a bag. If these chocolates are distributed equally to
12 children then § chocolates remain and if equally distributed to 14 children
then 10 chocolates remain. Then how many chocolates are there in the bag? 35uneomh Jypaeeicif, Bosh S Sibrent. o ety 12.saer sue modenn'$ vl ot
— w3 3. 14 3ot dund Towoen 10 wsdnr wocng @ ¢uwnd sadchomd wd
< ) 28 TR ? i
3) 80 4) 84
) (1) 30 2) 28
36. If the _wzm:_ of one diagonal of rhombus having side 25 cm, is 14 cm then (3) 80 (4) 84
what will be the length of other diagonal?
(1) 48 cm (2) 14 cm 36.25 n..,_uz PEIHT IDophe WREeeEE womh ¥es eeg w3 14 2. e ooaden sned el
_ : , =, ?
(3) 25 cm 4) 31 cm H —
. 1) 48 2) 14
37. w&c_m Singh purchased a machine 2 years ago for Rs.62500. If the value of & @
machine decreases by 8% per year, then what will be the value of the machine (3) 25 @ 31
today?
37.000Re0° 2o woth ohoZ Ry, S IXenY Jedws 6,25,000 de. nel DoOIFRD. b
(1) Rs. 53,900 (2) Rs. 52,900 Bdcdn Fase 8% dord mmwuoauam..ﬂq. bW R B oy, ? y =
(3) Rs. 52,800 (4) Rs. 52,700
(1) 53,900 c». (2) 52,900 .
38. The measure of an inscribed angle of circle is 65°, then what will be the (3) 52,800 . . (4) 52,700 gn.
measure of central formed by intercepted arc of that inscribed angle?
38.32VEO b 0D 2030 O3 Tt Y3 65° 3. TR U INAT YoITDeaT Boxz relTed
1) 65° ° 2
( (2) 120 _ gnes ©dd o, ?
. 1°
(3) 130° @ 325 W (1) 65° (2) 120°
|
| o
, (3) 130° . “ 32>

39. One shopkeeper gives 8% discount on printed price of camera, if he sold the

camera for Rs. 4600 then what is the printed price of camera? 39. .y, vonacngs nhoed S tidh hd 8% 0oiend Bamm,3. vE wemb whoe 4,600

. el TR SPBIS BET HQ3 B oy, ?

(1) Rs. 5000 @) Rs. 4592
(3) Rs. 4608 (4) Rs. 4000 (1) 50003 @y 4552 om
(3) 4608 . (4) 4000 G,
SPACE FOR ROUGH WORK A -
| T
_
0811 / Kannada Set-A 12 of 32 P.T.0.
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40. What is the cost of fencing the circular garden of radius 21 m with three rounds
of wire, if the wire cost Rs. 60 per m?

(1) Rs. 2,3760 (2) Rs. 23,740
(3) Rs. 22.760 (4) Rs. 22,740

41. The ratio of measure of complementary angle of one angle with its measure of
supplementary angle is 2 : 5, then what will be the ratio of that angle with ity
supplementary angle?

(1) 1:10 2 1:5
3) 3:10 ) 1:15
42, :q. each side of the equilateral triangle is 22cm, then what is the area of tha
triangle?
(1) 66 sq. cm (2) 121 sq. cm

(3) 12043 sq. cm 4 121 /3sq. cm

43. Arpita scored 20% marks less than Ajay, then how many % marks Ajay scored
more than Arpita?

1) 25% (2) 20%

3 5% 4) 10%
44, 105x105+15x10.5 +75x75_,
10.5+7.5 '

(1) 18 2) 17

@) 3 4) 15

0811 / Kannada Set-A 14 of 32 P.T.0.

21 Lo m. ¢ daenn I 05 WAt TE0N Fob Y

40).1.00h SFmnc danis
RITREINY; T Lot Anf vonh whid way, duhe o ?

o 3
i, ool e 60 o

(1) 23,760 (2) 23,740

(3) 22,760 (4) 22,740
4] Lo €atin HoTAUE Baern weden woy Zaod fasndachn AT gy 2.5 <d. mmnd
-2,

02 Antnn Bacddanlacon Ao rodars
v -

(1) 1:10 2y 1:5
(3) 3:10 4y 1:15
dezgoing 7

42, voth XESpht darns phugy 22 £.ine and, wo 3

(1) 66 ®.82ce (2) 121 18, 2200

(3) 120¥3 &, 2oon (4) 121 V3 . 2. e

2 suchid sLrmehc? LZ) uhﬁ.r el

43 saezent uncningy 20% ol rin dadeg. mmn
2aCE ?
(1) 25% (2) 20%
(3) 5% (4) 10%
44 105%x105+15x105+75%75 _ ——
105+ 7.5 =
(1) 18 (2) 17
(3) 3 (4) 15
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45. The difference of the sum of prime numbers and sum of composite numbers

) . . - . C the 1o ing 2 = ( (3
in between 11 1o 20 1s completely divisible by which of the following numbers’? FATLAVE E CRT —min Rereiz 120X s Larmao ° -
(A) 2 B)S © 7 (D) 13

sy 2 v) s =7 23 13
(1) Aand B i2) Band C

(1) & == v’ (2) ‘u == °f
{3) Cand D 4) Aand D -

(3) ‘¢ == ‘= {8) ‘v == a’

46. In fig. hine AB [| line CD and line PR is their transversal. If we draw angle
3 .“m.ul.\."u e S

bisector of both pairs of altemative angle then O PQRS is formed. Name the

ope of J PQRS.

(1) Right angle quadrilateral
(2) Kite
(3) Square

($) Trapezium

47. The diameter of wheel of minibus is 0.7m, the find the distance covered by the 47 -tk

wheel n 5000 rotation.

- g e . o gy i - - — -
4511 2oz 20 2207 Taukcznw diow o et maZw feim mord St
-

(1) 14 2.0

w (3) 10 8.55 (4) 11 a2

i1} 14 km (2) 12 km
{3) 10 km (4) 11 km
0811  Kannada Set-A 160132
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48. The measure of an angle is 140°, then which of the following statement is not

true?

(1) Can draw its complementary

angle.

(2) Can draw its supplementary angle.

(3) Can draw its opposite angle.

(4) Can draw its linear pair angle.

49. The co-ordinate of point P is —

5 on the number line. The distance between

point P and Q is 4 then which is the co-ordinate of point Q? [choose two correct

options]

5
(1) Lm

5
3) am

50.

many solid coins of 0.2cm thick
(1) 2200
(3) 2600

51. The curved surface area of cone

4
@ 35

@ -3

By melting of a solid cuboid of length 16cm, breadth 11cm, height 10cm, how

and 2cm diameter can be formed?

(2) 2400
(4) 2800

is 188.4 sq. cm. The radius of its base is 6

cm, then what is the perpendicular height of the cone? (m = 3.14)

(1) 6 cm (2) 8 cm
(3) 10 cm 4) 314 cm
SPACE FOR ROUGH WORK
0811 / Kannada Set-A 18 of 32 » PT.0.
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. ot At :
48. toth £33 03 140° <, ooy BINIYriVO, w3, D sl 7

(1) =0 Boxa0s Saes vuxes Loy
(2) =50 Baos Baes duxen woR
(3) =mo Q0T 3t TR T

(4) T Beacodh Baca goes JuRes WHPDH

49, Toamdealodh e “P” wombng vaamuuom — 3& P a3,

Q Vonwd 3 wo3y 4 mge Q
- o, ? °

5
1) -3 (2) 3

IR

5
3) hm 1) -

ol

50. 16 =. a0t g, 11 2. e eno 3, 10 2. e 938 =0 oo 2y mudaha ¥ony 0.2
B.ooe 3, uuuu 2 % ;¢ TEIDT oy, Forg, MYy, Fo3RoRwTHT ?

(1) 2200 (2) 2400

(3) 2600 (4) N.woo

51,20 ZoBods SISy Te 188.4 . 2.0t . ws” I 3z, 6 A.ooe 258, € Zotdy

©oWTNTHT baa oI ?  (r = 3.14)
(1) 6 2. e (2) 82 me
(3) “10- 2% (4) 31.4 2. 2
SPACE FOR ROUGH WORK
0811 / Kannada Set.A 19 of 32
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52. -512x!7 + 64:% = 2 [choose two cormect options]

(1 23¢° (2) -8x°

(3 -2%° (4) 8xY

53. The average age of boys in the class is 15.5 years, while girls average age is
16.5 years. The average age of total students of the class is 16 years. If there
are 30 boys in class then find the number of girls in class.

() 15 2) 16 B

3 30 ) 60

54. The number 3 * [¢] 6 is completely divisible by 3 and the digit at place of
* is greater than 1 by the digit at place of [<], then find the digit at place of

* 9
(1) 1 Q) 2
3) 6 “@ 9

55. What is the sum of additive inverse of (7a + 2b + c) and additive inverse of
(Sa + 2b — 50)?

(1) 4@Ba + b - 0©)
(2) 4@3a —-b -0
3) 43Ba - b - o)

4) 4GBa + b - ¢)

0811 / Kannada Set-A 20 0f 32 P.T.O.

A7 o =
52, SIM + 0408 = ax) 7 (a0 otan ZoIREey wol; wao)
23,9
(1) 2w (2) -8x°
(4H &°

53.00% IR Wi Kooz Tanmy 155 = HEDD, Thmbnohd XoeE0 Fekmy, 16.5 Sxend,

Inezd, 30 =roromyd. SredY wiy dmpeny . Jowxy, 16 Jdend. mmzd
Sresd o u&ﬁv:o&a uo.& a7

(1 15 @ 16
(3) 30 4) 60

54.3* [21 6 =1 Box® 3 00T Rdexizon PRI, 43 ZOEO o wodstn (3] 3900 ok vosnod |
00T BREHE. Hu:uﬂa * BIC oI o wod s ?

1
2)
3) 6

@ 9 b

55. (7a + 2b + ¢)B 3o SE, D2,(5a + 2D = 5¢)? 3 Weowd TX, ITRY Beow oy, ?
(1) -4@Ba + Db - o)
(2) 4(B3a-b-10)
3) 4Ba-0-0)

# 4B8a+ b -10)

J W
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56.

57.

58.

59.

V1.96 + v2.89 — v2.25 _

74
1/0.00000256
m 10? (2) 1072
(3) 10! 4 102
Karan has same number of notes of Rs. 20 and Rs. 50. He has Rs. 4900 in

total, then find the total number of notes he has?

1 70
3) 105

(2) 35
4) 140

The area of a square is 5.29 sq. cm, then what is its perimeter?

(1) 82 cm
3) 23 cm

(2) 9.2 sq.cm
4 9.2 cm

A cylindrical tank of base radius 21cm contains water. In that water, a metal
block of length 22cm, breadth 18 cm, height 7cm is dropped then what is
increase in the level of water in tank?

(1) 2 cm (2) 3 cm
(3) 3.5 cm 4) 2.5 cm
60. In a circle with centre 0, chord of a circle is 30cm long, its distance from the
center is 8cm. Find the radius of the circle?
(1) 17 cm (2) 15 cm
(3) 16 cm (4) 12 cm
0811 / Kannada Set-A 220132 ~ P.T.O.

e ——

e

56, +/1.96 ++2.89 —+/225

2
J0.00000256 ’

1 10° () 10°

3) 10 (@) 10

57. groed T3 o, 20 Se. nY SectbneSdee, vPe S0 o, deetoned. VTR T3 T wey, 4,900
dw. e, TMEC VS B3 T AT kY uo&a o, ?

(1) 70 (2) 35
(3) 105 (4) 140
58.0.0% WORE §e3go 5.29 R, A Mt . mmEd o RUXNE Vo oy, ?

(1) 822 me (2) 9.2 2. oot

(3) 2.3 3. e (4) 922 a0

59.2.00 ©ow,3, B8 YWD A0S BYods IV 3w, 21 Daor *d. wHo, dedh AW, ¥ ORI,
22 2. 2oe evgg, 18 2. 2oe erio, 7 2. e 2300 mBHaI g morld Hmnos 3w BN
«uuuuowﬂaw._auﬂ 2eo% 3R, v uuﬂuunnwﬁm._ ? )

(1) 2% oo (2) 3 2. ae

(3) 3.5 e (4) 2.5 2. oo

60. ‘0” Beom Worhatha WHevrY, 30 2. ot wog ¥3eh W) TSrEY StomiBort 8 X Do woIus
2003, mEd © SHEIS 3w, o ?

(1) 17 3. awe (2) 152, 2ot
3) 16 2. ¢ (4) 12 2. oe
SPACE FOR ROUGH WORK
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61.

62.

63.

64.

A hall has length 28 meter and breadth 10.5 meter For flooring this hall, square
tiles are to be used of half meter side then how many tiles are required?

(1) 1180 2) 1150

3) 1176 @) 1126

Add the polynomials Sx* — 2x and 23 — 7. What is the degree of the sum of
these polynomials?

7 @) 4
3) 12 4 s
81° x272 .

ﬂm,l =x"then x = ?

1 4 (2) 3
3) 2 @ 1

If the measures of two external angles of a triangle are 60° and 130° respectively,
then which type of triangle is it?

(1) Acute angled triangle
(2) Obtuse angled triangle
(3) Right angled triangle

(4) Equilateral triangle

0811 / Kannada Set-A

24 of 32 P.T.O.

W
£
3
']
#
i
i

61.2.00 RRREs evg 28 dotesct, ere 10,5 pnsos <. o Ry, x3, TWater BFE Latio
w0 WO, mony | nvsy mordemna. MEIGEE, by, Sy, TRy s

tmrbs) ?
(1) 1180
() 1150
(3) 1176

(4) 1126

62. 5x* — 20T, 2¢F — T B UDTONY o AT WOHT HBLT Foood oy, ?

1 7 @) 4
@) 12 ) s
63. 8 X2 agg, x = 9
9° x3
(1) 4 (23
32 @1

64. tomh 38AEE AOR RTIREHY LIIR uDHE
FEUs JEnedTonte3 T ?

(1) ozH8aea 38ae
(2) omvdnes 38nt
(3) mowdnes 38ae

(4) xbyhm 3Eatd

Den 60° 3, 130° =3, emEd em ke

0811/ Kannada Set-A
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65. Rohit made a profit of 6 percent when he sold a car which he bought for Rs.

66

5,00,000 How much total money did Rohit get after selling the car?
(1) Rs. 5,20,000
(2) Rs. 5,10,000
(3) Rs. 6,00,000
(4) Rs. 5,30,000

The length of perpendicular sides of a right angle triangle are 7cm and 24cm

respectively, then find the radius of it's circum circle.
(1) 12.5 cm (2) 25 cm

(3) 12 cm 4) 6.5 cm

67. There is decrease in sale of object by 10% due to increase in the cost of object

by 10%, then what is the profit percent or loss percent in this transaction?
(1) 1% loss (2) 2% profit

(3) 3% loss 4) 1.75% profit

68. Yogesh deposited Rs. 32000 in a bank for two years on simple interest, After

maturity he gets Rs. 38400, then what is the rate of interest?
(1) 12 p.cc.pa
(2) 15 p.c.pa
(3) 18 p.c.p.a
4) 10 p.c.pa

o

A L TN T A A L e T Y

ol 5 P omlold = e -
65,8423 5 OYF, RO T 2uim 6% i nchBncd: Snomd, v
xeday, @ = o, venn

(1) 5,20,000 cz.
(2) 5,10,000 ox.
(3) 6,00,000cz.

(4) 530,000 ¢z,

1 CUStEERIT yhunys TA.ne w3, 24 A n. mmdd

(1) 12.5 A.zee (2) 25 2.z:e
(3) 12 2o (4) 6.5 %250

s

67.2h,08 g 10% Sugpeny. wgees eod 10% Sxou sadicimahz. m=mod 8
LRt e Zedmm oy vy D

%
waan o
3 el =0 O

i
|

(1) 1% =0
(3) 3% == (4) 1.75% =2

68. ctaented woh w=,e8wg 32,000 ca. nwm Xo¥ Qo N

u
wzan 38,400 cazecthnes Sadzn. mmad 1o LAk Y o ?

i

1) zs.==.212

(B) z.=.218 4 =.==210
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69. In the following frequency distribution, height of 20 students of a class is given.
From the given data find the mean.

Height(cm) 160 161 162 163
Number of boys 4 6 5 5

(1) 160 cm (2) 161.55 cm
(3) 1625 cm 4) 161 cm

Question 70 and 71— The percentage production of crops jowar and wheat in four

villages is given in the following sub-divided bar graph. Observe the graph and
solve the following questions.

‘Seale |
e Yaxislcom= 20% .-
i , .uoﬁ.uu
0T T T T O wWhea
A -B C D X
Villeges - 1+ - — -

70. The production of jowar in D village is more by how much than the village

B?
(1 10% (2) 20%
3) 60% “4) 80%
71. Find the ratio of wheat production of village A and village C.
() 6:5 2) 5:4
3) 3:2 4 2:3.
IGH W

0811 / Kannada Set-A 28 of 32 P.T.O.

5 4 - e

sz v e

IE——

T

A . A U

69. om SrEwfen 20 am BTV 3o Taton

e & T OS2 dargsn Yoot o TS5 fok
32 (R 160 161 162 163
oRBE u‘.o&u 4 6 5 5

1) 160 =.2s0 (2) 161.55 2.05e
(3) 162.5 2.o0¢ (4) 161 2.ase

zeud: 33, 70 ﬂu.-(u 71 -4 vaones ot aey %, AR, 5 G
o gmn

uw, ne. eTo 2D TR0 fvns TENY ©3308 Toinechnva; s,
Scale
Y axis 1 ca = 20%
J:H ! VA Jowear
IwWheat
100+
S.l
40+
Algo.,l
N w
v

70. D vwos 2atde eompdcn ‘B wnod daws wemineg oy, Swmndd ?

WRTRL T, 3z dvns

(1) 10% (2) 20% (3) 60% (4) 80%
71.°A’ vwod fag vz s @3, ‘C vses Aatd wRZARY gy ey, ?
1 6:5 ) 5:4
@) 3:2 4 2:3 )
SPACE FOR ROUGH WORK
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72

. Which term should be added to 100x%+2-

16 from the following to make it
complete square? [choose two correct option]
(1) +5x 2) -5xy
25x 25
3 —_ =
@ % @ -7

73. If 18 labours take 15 days to complete one task, then how many days will

74.

6 labours need to complete the same task?
(1) 3 days (2) 90 days

(3) 5 days (4) 45 days

From the following, select the factors of polynomial (2x — 3)3 + 125.
(1) 2 (x+ 1) @x2 - 22x + 49)

(2) (x+ 1) (4x2 — 22x + 49)

(3) 2 (x-1) (4x% — 22x + 49)

@ (x = 1) @32 - 22x + 49)

0036 235 1
— — =9
75 56 X005 %6~
(1) 0.547 @) 5
(3) 0.47 4) 547
SPACE FOR ROUGH WORK
0811 / Kannada Set-A 300f32
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TR o

g

e S

e e

oy e

4
aa.q
72.100x* + [ 3 OO0 BARESME wrien w00, cins Doy, tadmdwrbHm 7

(208 SReT, TAREHNYD Lol IPad)

(1) +5xy (2) =5xy
5 25
3) 1y (4) -5

73. 18 8005001 woth SORTR), Bareravres 15 OInd F=oh W3l it suxasy 6
ORI I BINYY, Jene SRS ?

(1) 383 ) 90os

(3) 5o (4) 45 o=
74. (2x = 3)* + 125. 8 wETOH OIDHTAY WP ?

(1) 2 (v + 1) @22 = 22¢ + 49)

@) (v + 1) (@2 = 225 + 49)

(3) 2 (x — 1) (42 - 22v + 49)

@) (x = 1) (2 - 22 + 49)

75, 0.036 . 2.35 5 1 4 sw_ﬁ
0.6 005 6
(1) 0.547 @2 5
(3) 0.47 (4) 547
SPACE FOR ROUGH WORK
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